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(Question)
Which one of the following properly describes operating margin?

a) It is an indicator for determining the extent to which
operating income (i.e., the outcome of management
activities) is generated by total assets used in
management activities.

b) It is an indicator for determining how much operating
income (equal to sales, which are the company's primary



operating activities, minus expenses, etc.) remains.

c) It is an indicator for determining how much profit is
generated relative to the company's assets.

d) It is an indicator for determining how much profit is
generated by the invested capital from investors'
standpoint.

(Answer) b
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